HexPuzzles

Factorising quadratic expressions

This document contains:

e A blank HexPuzzle template, which students may

find useful when assembling their HexPuzzle;

[—

e 50 different HexPuzzles.

Instructions:

e Students can either work individually, or in a small group

(suggested maximum: 4 students).

e Give each group a (different) HexPuzzle.

These pages can be printed on A4 paper, but it is better to print on A3 or larger.

e The 14 hexagons and 16 triangles should be cut out.

e Rearrange the hexagons and triangles, so that the sides of the hexagons are adjacent to
the triangle which has that property (i.e. the factor on the hexagon is a factor of the
quadratic expression in the triangle, or the completed square/turning point form is

equivalent to the quadratic expression).

e The HexPuzzle will rearrange into the original shape.

J Coventry, August 2014






Hex Puzzle 1 (€T — X) (0Z —X%)
S| JoyoeH S| J010eH
Factor is 5 Factor is

(x— 13) X —28x+ 195 (X + 6)

QT +X) ) (LT +X) ) T —X)

S1 10102 X“+2X—255 S1 10102 Xc—12x - 28 S1 10102
Factor is 5 Factor is 5 Factor is
(X + 20) X+ 10 x — 200 (X — 19) Xo— 32X+ 247 (x+ 6)

(8T +X) (7 +X) ) X ) T +X)

S| J0}oe S| J0joe x*—10x S| J0}oe X" +2x-80 S| J0)oe
Factor is Factor is 5 Factor is Factor is
(X + 14) (X + 17) X +16x-17 (X 6) (X — 20)

(LT -X)
S| JojJeH

(¢ —X)
S1 10]3e4

€ -x)

2
S| J010eH & X-—16x—-17

X2+ 16X — 36

X2 —6x— 280

0z —X%) ¥ +X)
S| J010e4 S| J010e4
Factor is Factor is
(x+13) (x+17) http://mathsnut.net




Hex Puzzle 1

(L —X)
S| 10]13eH

Factor is
X+ 9)

(GT +X)
S| 10]13eH

Factor is
X+ 21)

(9T +X%)
S| J010eH

Factor is
(X-95)

X2 —4x—192

X2 — 24 x + 95

T +X%)
S| J010eH

Factor is
(x—20)

X2+ 8x— 20

X2 — 22X+ 40

0T +X%)
S| J010eH

Factor is

X+ 21)

(7 —X)
S| Jo)Je

Factor is
(X=29)

x2 —10x—75

X2 — 18X + 65

(GT —X)
S| l0joeH

Factor is
X+ 21)

X2 +2x—323

X2 + 4 X — 357

(6T +X)
S| Jo)Je

Factor is
(x-19)

X2 — 26 X + 165

X2 — 22X+ 57

(TT —X)
S| l0joeH

Factor is
(X—6)

6 —X)
S1 10]3e4

X% + 8x— 273

(TZ +X)
S| JojJeH

X% — 22 x + 105

X2 — 24 X + 128

(L —X)
S1 10]3e4

(L —X)
S| J0)JeS

Factor is
(x-11)

T +X%)
S| Jo)oe

Factor is
X

http://mathsnut.net



Hex Puzzle 1 (G —X) (LT —X%)
S| JoyoeH S| J010eH
Factor is 5 Factor is

(x+3) X°+ 22X+ 72 (X—2)

(T +X) ) @1 —X) ) (€ -X)
S| 10106+ X+ 14x- 32 S1 10102 X+ 20x+ 64 S1 10102
Factor is Factor is Factor is

X+ 4) (Xx—18) x+17)

=x) ) (7 +X) (T +X) ) 6 +X)
S| J0}oe X"+ 6x-72 S| J0joe S| J0}oe x*—12x-13 S| J0)oe o
2
oy
N
Factor is 5 Factor is 5 Factor is Factor is
N X“+2x-323 (x— 3) X“+ 14X (x+ 4) (x— 3)

6 +X) 5 (€T —X%) 5 (T +X)
S1 0198 X —8x+15 S1 0198 Xc— 26X+ 153 S1 10198
Factor is Factor is
2 _ 2
Xc+ 6Xx—187 (- 2) X+6xXx+9 (x - 11)

(€T +X) 5 T +X)
S1 10108+ Xc—28x+ 192 S1 0198
Factor is Factor is
(x+ 19 (X+14) http://mathsnut.net




Hex Puzzle 1 (8T — X) 6T +X)
S| J0)JeH S| J0)JeH
Factor is Factor is

xX-1 (X + 6)

(8T —X) 2 (02 —X) 2 (9 +Xx)
S1 10106+ X+ 14 x+ 33 S1 10102 x“—12x-85 S1 10102
Factor is Factor is 5 Factor is
(X + 20) (x— 4) X+ 40 x + 399 (x+ 1)

L =X (TT +X) ) (LT =X) ) 6 —X)
S| J0}oe S| J0joe X —12x S| J0}oe X"+ 34X + 289 S| J0)oe
Factor is Factor is 5 Factor is 5 Factor is

« (x+ 19) X+ 12x+11 (X + 20) X+ 26 X+ 168 (X+2)

(9T +X) , 2T —X) , (LT +X)
S1 0198 . X+ 40 x + 399 S1 0198 » X“+ 8x— 209 S1 0198
<
o
A
_\-
&
Factor is
(x+11)

6T +X)
S| J010e4 S| J010e4
Factor is Factor is
(x—14) (X+9) http://mathsnut.net




Hex Puzzle 1 (G —X) (T +X)
S| J010eH S| J010eH
Factor is 5 Factor is
(x + 16) X+ 22X+ 117 (x + 15)

(€T —X) ) G -X) ) L =X

S1 10102 X+ 26X+ 153 S1 J010e xc—20x+ 100 S1 J010e
Factor is > Factor is Factor is
(X+8) X" —2x- 120 (X+2) (X - 10)

6 +X) 0T —X) ) (7 —X) ) L +X)
S| J0}oe S| J0joe X“+10x - 144 S| J0}oe X*—12x -85 S| J0)oe
Factor is 5 Factor is Factor is 5 Factor is

(x— 19) X“+14x-51 (x+ 6) (x+9) X“+4x—-96 (x+ 6)

0z +x)
S| JojJeH

(G +X)
S1 10]3e4 A

8 —X)

2
S| 0198 x*—-—10x-11

X2 +12x— 85

Factor is

2_
Xc—14x+ 40 (x + 15)

8T +X) )

S| 10108+ X —14x+45

Factor is Factor is

(x+17) X http://mathsnut.net




Hex Puzzle 1 (G +X) (G +X)
S| J0)JeH S| J0)JeH
Factor is Factor is
X+ 9) X

(TZ +X) 5 (6 +X) 5 T +X)
S1 10102 X+ 10x - 200 S1 10102 X —24x+ 108 S1 10102
o
2
S O
& *
NNy
Factor is > Factor is 5 Factor is
(x + 18) X“+2X— 399 (X +12) X-—28x+ 180 (X—2)

(0Z — ) 0z +X) , (8T %) , €T -%)

S| J0}oe S| J0joe X*+18x +45 S| J0}oe X" —4x-320 S| J0)oe
Factor is 5 Factor is 5 Factor is Factor is
(X + 21) X~ 10x-36 (X — 18) X+ 18x+32 (X + 18) (X + 11)

€1 +%) ] (6T +%) (9T +)
S| J0joe o \ X +16x+35 S| J0joe S| J0joe
<
S
AN
Qfﬁ”
Factor is
(X+ 16)

(9T —X) T —X)
S| J010e4 S| J010e4
Factor is Factor is
(X+6) (x—14) http://mathsnut.net




Hex Puzzle 1 0z - X) (T+X)
S| l0joe4 S| J0)JeH
Factor is Factor is
(x—10) (X + 16)

(ST +X) @1 +X) ) T —X%)

S| J01oe S| J01oe X"+ 16x+64 S| J01oe

Factor is > Factor is > Factor is
(X — 4) X“+10x - 96 (X +12) Xe— 22X+ 96 (x+ 1)

(TT - X) , (8T —X) 02 —X) , (8 +X)
S| J0}oe X*—16x+15 S| J0joe S| J0}oe X*—30x+209 S| J0)oe
Factor is 5 Factor is 5 _ Factor is 5 Factor is
(x— 19) X“+28x+ 171 (x + 16) X°+2x-48 (X— 6) X“+ 18X+ 77 (x+12)

CARDY)
S| JojJeH

(ST -X)
S| JojJeH

(8T —X%)

2
S| 10)%eH o X+ 26X + 168

X% — 30X + 200

X2 — 16X+ 15

(0T —X) T +X)
S| J010e4 S| J010e4
Factor is Factor is
(x—15) (x—19) http://mathsnut.net




Hex Puzzle 1 (T +X) (G +X)
S| J0)JeH S| J0)JeH
Factor is Factor is
(X + 15) (x+11)

T —X) ) (T -%) 6 +X)

S| J01oe X°—4x-140 S| J01oe S| J01oe

Factor is 5 Factor is Factor is
(X+7) X = 38x+360 (x + 15) (x - 15)

@1 —x) ) (ST +X) ) X (T -%

S| J0}oe X —2x-120 S| J0joe X"+ 28x+ 195 S| J0}oe S| J0)oe
Factor is 5 Factor is 5 _ Factor is 5 Factor is
(x - 11) X“+ 16X+ 63 X+ 7) X“+10x- 231 (x+7) X°+ 26 x+ 133 (X 20)

0z —X) , 2T +%) ) (7T +%)
S1 0198 X —28x+ 160 S1 0198 X“+2x-120 S1 10198
s2 — 24X + 128 Fector is 2+ 14X + 13
X+ 7)

2-% ) 2-%
S| J0)0e X —20x+ 36 S| J0)oe

Factor is Factor is

(x—19) (X—8) http://mathsnut.net




Hex Puzzle 1

(T -X)
S| 10]13eH

Factor is
(x-12)

X2 + 32X+ 240

(ET +X)
S| 10]13eH

Factor is
x-12)

(L +X)
S| J010eH

Factor is
(X+ 20)

X2 + 10 x — 200

X% + 10 x — 200

(TZ +X%)
S| J010eH

Factor is
(x-15)

X2 —12%x+ 32

X2 +10x+ 21

6T —X)
S| J010eH

Factor is
X+1

9 +X)
S| l0joeH

Factor is
(x+14)

X2 + 10X — 24

X2 — 26 X + 144

(GT —X)
S| l0joeH

Factor is
(x—10)

X2 +2x— 288

X2 + 16X+ 15

0z +X%)
S| Jo)Je

Factor is
X+ 7)

8 —X)
S| l0joeH

Factor is
(x—15)

¥ —X)
S1 10]3e4

X% + 24 x + 119

@T +X)
S| JojJeH

(8T +X)

(/L +X)
S| J0)JeS

Factor is
(x-15)

(T2 +X)
S| Jo)oe

Factor is
(x+14)

http://mathsnut.net



Hex Puzzle 1

(¢ —X)
S| 10]13eH

Factor is
(X+5)

(8T +X)
S| 10]13eH

Factor is
(X—2)

T —X%)
S| J010eH

Factor is
(X+9)

X% + 8x — 240

xX+1

X2 +18%x+ 32

X%+ 14x— 15

(8 +X)
S| J0)JeS

Factor is
(X=2)

(7 +X)
S| Jo)Je

Factor is
(X + 20)

X2 —12x+ 20

&T —X)
S| l0joeH

Factor is
(x=1

X2 —16x— 17

(¢ +x)
S| l0joeH

Factor is
(X+9)

X2 — 26 X + 168

X2 + 26 X + 133

G —X)
S| Jo)Je

Factor is
(X + 20)

(ST -X)
S| JojJeH

X% + 32X + 252

X2 + 20X+ 75

€T -X%)
S| JojJeH

X% + 18X — 63

CARDY)
S| JojJeH

€ —-x)
S| J0)JeS

Factor is
(x+ 20)

(¢ +X%)
S| J0)Je4

Factor is
(x—-10)

A
QA

http://mathsnut.net



Hex Puzzle 1 (T +X) (8T —X)
S1 J010eH S1 J010eH
Factor is Factor is

(x-19) (X + 14)

(8 +X) X ) (8T —X)
S| J01oe S| J01oe x°—12x-108 S| J01oe
Factor is > Factor is 5 Factor is

(x+ 1) X“+4x+3 (X — 16) X°— 28X+ 192 (X + 14)

6 —X) ) (TT +X) ) (7 —X) ) 6 +X)

S1 10108+ X“+18x+ 77 S1 10108+ xc—20x+ 64 S1 10108+ X“+24x+ 135 S1 10108+
Factor is 5 Factor is 5 _ Factor is 5 Factor is
(x+ 13) X°+22x+ 117 (X—5) X“+12x-85 (x+9) x“+10x+9 (x+ 11)

@T +X)
S| JojJeH

0T -
S| JojJeH

9T -X%)

2
S1 0198 X“+ 20X+ 96

X2 +8Xx+7 X2 — 18 X + 56

WT —X) 6T —X)
S| J010e4 S| J010e4
Factor is Factor is
(X=2) (X+ 20) http://mathsnut.net




Hex Puzzle 1

(T +X)
S| 10]13eH

Factor is
X+ 4)

(¢ +X)
S| 10]13eH

Factor is
(x-1)

(T-X) ,
S| 10106+ Xc—22X+ 72
Factor is 5

(x— 13) X —22x+ 117

(8T —X)

Factor is
(x+11)

(Tg +X)
2
X+ 32x+ 231 S1 10102
2+ 22+ 121 Fector is
X-=1

6 —X)
S| l0joeH

Factor is
(x+14)

(L —X)

2
X-— 16X+ 63 S1 0108

Factor is
X

(L —X)

(6T +X)
S| Jo)Je

Factor is
X+1

(TZ +X%)
S| JojJeH

X2 + 20X + 84

(LT -X)
S| JojJeH

Factor is
(X—95)

2
S1 0108 xX“+20x+ 19
Factor is 5
(x— 12) X-— 16X+ 48
(9T +X%)
X + 26 X + 160 S1 101904
Factor is
2_
x—10x+ 25 (x+ 1)

(8T —X)
S| J0)JeS

Factor is
(Xx-19)

X2 +2x—63

(L —X)
S| J0)Je4

Factor is
(X+ 2)

http://mathsnut.net



Hex Puzzle 1 2T —X) (€ —X)
S| J0)JeH S| J0)JeH
Factor is Factor is
X+ 2) (X + 18)

X , +%) , 0z +X)

S1 10102 X“+ 6x—-187 S1 10102 x“—=10x-75 S1 J010e
Factor is 5 Factor is 5 Factor is
(x+ 13) Xc—12x-160 (X - 17) X-— 24 x+ 108 (x+ 4)

9T =X) ) (LT +X) ) G +X) ) (9 +X)
S1 10108+ xXc—12x-133 S1 10108+ X°—16Xx S1 10108+ xc—10x- 119 S1 10108+
Factor is > Factor is > Factor is 5 _ Factor is
(X — 20) X< — 169 (X— 6) x“—20x+ 84 (x+ 13) X+ 4x—96 (X — 4)

(L +X) ) X ) () +X)
S1 0108 X —8x+15 S1 0198 X“+2X— 323 S1 0108
Factor is > Factor is >

(X 14) X+ 14x+ 24 (- 8) X“+ 22X+ 12

(LT —X) 6T —X)
S| J010e4 S| J010e4
Factor is Factor is
(X—=9) (x-13) http://mathsnut.net




Hex Puzzle 1

(7 +X)
S| Jo)Je

Factor is
(x—15)

(TT —%)
S| l010e

Factor is

2
X°+ 34 x+ 285 (x— 13)

6T +X) 5
S1 10106+ X-—22x+40
Factor is >
(x—5) X —2X—224

X 2
S1 J010e4 X+ 14x-15
Factor is 5
- 18x-40
(x + 15) X iex

(€T +X)
S| Jo)oe4

Factor is
(X=17)

(¢—X%)
S| l0jJe

Factor is
X+ 2)

(GT +X)

2
X+ 4x—-45 S1 Jo10e

Factor is
(X —16)

(LT +X)
S| l01oe

Factor is
(x+19)

X2 — 22X+ 96

X% — 22 x + 105

(€T +X)
S| 10)Je

Factor is
(X —16)

€ +X)

2
S| 0108 A X + 18 x + 56

©9-X) )

S1 J010e x*—-10x-11

Factor is >
—-14x-15

(x - 13) XX

(LT —X)
S| lojoe

WT —X)
S| 10]13eH

Factor is
(X—195)

(G —X)
S| J0)3eH

Factor is
(x—18)

http://mathsnut.net




Hex Puzzle 1 6T +X) (T +X)
S| J010eH S| J010eH
Factor is 5 Factor is
(X + 20) X+ 26X+ 120 (x— 18)

@1 —X) ) (8T —X) ) (LT +X)

S1 10102 xc—30x+ 216 S1 10102 x“+10x-119 S1 10102
Factor is Factor is > Factor is
(X + 14) X+ 1) X" - 18x-19 (x—18)

(G +X) (6T +X%) , (T2 +X) , (€T -%)
S| J0}oe S| J0joe X“+22x+21 S| J0}oe X"+ 8X— 213 S| J0)oe
Factor is 5 Factor is 5 Factor is Factor is

(X — 4) X - ax (x + 10) X~ 100 (X — 19) (X +3)

G -x) , (€T - X) (7 =)
S| J0joe X" —26x+169 S| J0joe S| J0joe
Factor is W2 _ 4x Factor is

X (x—15)

L =X) ) (GT +X)
S| J010e X°+ 34X+ 285 S| 10106+
Factor is Factor is
(X+ 10) (X+ 6) http://mathsnut.net




Hex Puzzle 1 (€ +X) (9T —X)
S| J0)JeH S| J0)JeH
Factor is Factor is

(x—15) (X—3)

(9 —X) 5 0z — %) 8T +X)
S| J01oe x“+14x-15 S| J01oe S| J01oe
Factor is 5 Factor is Factor is

(X + 19) X' - 22x+105 (X - 10) (X—8)

(€T —X) ) (ST +X) ) (€ -x) (€ +X)

S| J0}oe X"+ 8x-128 S| J0joe X" =20 S| J0}oe S| J0)oe
Factor is Factor is 5 Factor is 5 Factor is
(X—T7) X+ 7) X“+8x— 153 (x+ 19) X-—22x+ 85 (x + 15)

QT +X) X ) (8 +X)
S| J0joe S| J0joe A X"+ 36X + 323 S| J0joe
N
S
Qfﬁ”
Factor is
(x=17)

(LT +X) 8T —X)
S| J010e4 S| J010e4
Factor is Factor is
(X=1) (x+19) http://mathsnut.net




Hex Puzzle 1 (€ —X) (ST +X)
S| l0joe4 S| J0)JeH
Factor is Factor is

(X + 10) (x+19)

(0Z +X) ) (TT =X) ) (€ -X)
S1 10102 X =16 X S1 10102 X —32x+ 247 S1 10102
Factor is 5 Factor is 5 Factor is
(X + 16) X+ 30 x + 200 (x— 13) X-— 18X N

(9 —X%) 5 (0T +X) 5 (9T —X) (€T —X)
S| J0}oe X"+ 26x + 160 S| J0joe x*—18x-19 S| J0}oe S| J0)oe
Factor is 5 Factor is Factor is 5 Factor is

N X°+ 24X+ 63 (x + 10) (x— 18) X-—12x+ 32 (x— 13)

6T -%) ] O1 +%) T +%)
S| J0joe X+ 18x+ 77 S| J0joe S| J0joe
Factor is
2 —
X“+18x-19 (x — 10)

IT +X) )
S1 0198 X°+ 18 x - 63
Factor is Factor is
(X+4) X http://mathsnut.net




Hex Puzzle 1

(L +X)
S| 10]13eH

Factor is
(x-19)

D
/

@ 9

(€ —X)
S| 10]13eH

Factor is
(X + 18)

6T —X)
S| J010eH

Factor is
X+ 14)

x2+10x— 11

(TT +X)
S| J0)JeS

X+ 14)

X2 — 26 X + 169

€T —X%)
S| J010eH

Factor is
(X+ 18)

T —X)
S| Jo)Je

Factor is
(X —16)

X2 +14x— 15

X2 +2x— 288

(GT +X%)
S| l0joeH

Factor is
(x-19)

X2 — 36 X + 323

(€T —X)
S| Jo)Je

Factor is
(X + 6)

0z —X%)
S| Jo)Je

Factor is
(X+9)

(G +X)
S1 10]3e4

X2+ 12x— 28

(8T +X)
S| JojJeH

X2 — 20X+ 96

X2 — 18X+ 72

CARDY)
S| JojJeH

(T +X)
S| J0)JeS

Factor is
(X=9)

(LT —X)
SI Jo)oe

Factor is
(X—16)

http://mathsnut.net



Hex Puzzle 1

(9 —X)
S| 10]13eH

Factor is
(X-9)

X2+ 12x+ 11

(T +X)
S| 10]13eH

Factor is
(x+19)

0T +X%)
S| J010eH

Factor is
(X+15)

X2 + 14 x — 147

x2 —20x+ 19

0T +X%)
S| J010eH

Factor is
(x-19)

x2—10x+9

X% + 20X+ 51

(T-%)
S| J010eH

Factor is
x+17)

(€T —X)
S| Jo)Je

Factor is
(x-19)

X2 +2x—80

(L —X)
S| Jo)Je

X+ 3)

X2 +12x—13

X2+ 10X+ 16

6 —X)
S| l0joeH

(x+ 15)

x2+2x-35

X2 —6Xx—216

8 +X)
S| l0joeH

Factor is
X+1

(8 —X)
S1 10]3e4

X2 — 12X+ 27

€T +X%)
S| JojJeH

X2 + 16 X — 57

(L +X)
S1 10]3e4

(TT —X)
S| Jo)oe

Factor is
(x+ 18)

9 +X)
S| J0)Je4

Factor is
(X=2)

http://mathsnut.net



Hex Puzzle 1

(0T —X)
S| 10]13eH

Factor is
X+ 2)

(LT +X)
S| 10]13eH

Factor is
(X+9)

S| J010eH

Factor is
(X=3)

(8 —X)
S| J0)JeS

X+ 14)

X% — 18 X

6 +X)
S| J0)JeS

Factor is
(x+11)

(6T +X)
S| Jo)Je

X2 —6x— 187

X2 + 6X— 187

X
S| Jojoe4

Factor is
(x—18)

X2 +2x—323

(7 +X)
S| Jo)Je

Factor is
(X=3)

x2 —10x — 119

(L +X)
S| Jo)Je

Factor is
(X+5)

(TT +X%)
S| JojJeH

X% — 289

X2 — 10X — 24

(G +X)
S1 10]3e4

X% + 18 x + 81

(L +X)
S1 10]3e4

(0T —X)
S| J0)JeS

Factor is
X+ 4)

0z —X%)
S| J0)Je4

Factor is
x+17)

http://mathsnut.net




Hex Puzzle 1 (€ +X) (TZ +X)
S| J0)JeH X S| J0)JeH

\ D

A L&
0}.
.K\
I
{

Factor is g Factor is
(x-11) (X + 16)

6 +X) ) G -X) ) (8 —X)
S| 10108+ Xc=24x+ 95 S| 10108+ x—18x+ 80 S| 10108+
Factor is > Factor is > Factor is

(- 5) X+ 10x-75 (x+ 6) x“—10x - 96 (x + 16)

(T2 +X) 8 +X) ) (ST —X) L =X

S| J0}oe S| J0joe X" —26x+165 S| J0}oe S| J0)oe

Factor is Factor is Factor is 5 Factor is
(x—8) N (x— 3) X+ 14x-51 (X— 6)

(€ —X)
S1 10]3e4

(9 —X)
S1 10]3e4

(TZ +X%)

2
S1 0198 Xc—12x+ 27

X% — 24 x + 108

X2 —10x+ 21

(GT —X) 8 +X)
S| J010e4 S| J010e4
Factor is Factor is
(X=7) (X+9) http://mathsnut.net




Hex Puzzle 1

(Tz +X)
S| 10]13eH

Factor is
(X + 6)

(¢ +X)
S| 10]13eH

Factor is
X+ 2)

(¥ +X)
S| J010eH

Factor is
(x—13)

€ —X)
S| J0)JeS

Factor is

2
x“+10x+9 (X 20)

X2 +8x+ 16

X% + 6x— 280

€ —X)
S| J0)JeS

Factor is
(x—-13)

6T —X)
S| Jo)Je

Factor is
X+ 13)

X% + 8x — 153

€ +X)

2
S| Jo10e X-—4x— 285
Fact)(()r IS X2 — 22X+ 57

6T —X)
S| Jo)Je

Factor is
xX+1

X2 + 24 X + 63

X2 + 26 X + 169

9 -X)
S| l0joeH

Factor is
(x—14)

(G —X)
S1 10]3e4

CARDY)

2
X“+20x-21 S1 0198

X2 — 12X+ 32

X2 — 18X + 65

(L +X)
S1 10]3e4

6 +X)
S| J0)JeS

Factor is
(Xx—4)

Factor is
X+ 4)

http://mathsnut.net



Hex Puzzle 1 (GT +X) 9-x)
S| J010eH S| J010eH
Factor is 5 Factor is

(X — 20) X°+ 18x— 63 (x+9)

(G +X) ) G +X) ) 6 —X)
S| 1010e- x“ + 38 x + 360 S| 10108+ Xc+2x-15 S| 10108+
Factor is 5 Factor is > Factor is

(x— 1) Xc—12x-108 (- 3) X“+ 16 x—-57 (x— 1)

(8T —X) 5 (9 —X%) 5 (0T +X) 5 (8T +X)
S1 10108+ X“+12x-45 S1 10108+ x“—10x-144 S1 10108+ X“+8x-84 S1 10108+
Factor is Factor is 5 Factor is 5 Factor is

(x+7) (X — 12) X“+12x+ 32 (x— 18) X°+ 26 x+ 133 (x+ 19)

(€ —X)
S1 10]3e4

€T +X%)
S| JojJeH A

QT +X)

2
S1 0198 X“+8x—-128

X% + 38X + 357

X2 + 28 X + 196

8T —X) (LT +X)
S| J010e4 S| J010e4
Factor is Factor is
(X +14) (X +14) http://mathsnut.net




Hex Puzzle 1

(GT +X)
S| 10]13eH

Factor is
X+ 7)

(9 +X)
S| 10]13eH

Factor is

2
X° + 28 X + 147 (x + 16)

6T —X)
S| J010eH

Factor is
(X=3)

X2+ 8x— 20

(¢ —X)
S| J0)JeS

2 J—
(X — 14) X5+ 2X— 224

(¢ +X%)
S| J0)JeS

Factor is
(X+ 16)

(€T —X)
S| Jo)Je

Factor is
(X-9)

Factor is
(x-12)

€ +X)
S| l0joeH

Factor is

2_ —_—
X —10x—-24 (x+9)

X2 — 16X+ 15

X2 +6x—27

(GT —X)
S| l0joeH

Factor is
X+1

0z —x)

X% + 8x— 105

X2+ 6X— 216

(L —X)

2
S1 0108 Xc—4x—-165

X2 — 14X + 24

(ST -X)
S| JojJeH

(8T +X)
S| J0)JeS

Factor is
(X—16)

(9T —X)
S| J0)Je4

Factor is
(X—16)

http://mathsnut.net



Hex Puzzle 1 (TZ +X) (T -X)
S| l0joe4 S| J0)JeH
Factor is Factor is
X+ 4) X+ 12)

L +X) ) 6 +X) ) (T +X)
S1 J019e X —=24x+ 140 S| 10108+ xc—8x-209 S| 10108+
Factor is Factor is > Factor is
(X—12) (X+5) X+ 14x =32 (x+11)

(TT +X) (T +X) ) 0T —x) 6T —X)

S| J0}oe S| J0joe X“+12x - 160 S| J0}oe S| J0)oe

Factor is 5 Factor is 5 Factor is 5 Factor is
—2X-— -6x-1

(x+ 12) xX-—2x-360 (x+8) X+ 18 x + 56 (- 2) X-—6x-160 (X+5)

(8 —X)
S1 10]3e4

(¢ —X)
S| 10)JeH Q

(T—X%)
S1 10]3e4 o)

X% + 34 x + 288 X2 —22x+ 112

HT —X)
SI Jo)oe

(8T +X)
S| J0)JeS

Factor is
X+ 12)

Factor is

(Xx+1) http://mathsnut.net




Hex Puzzle 1 (7 +X) (G —X)
S| J0)JeH S| J0)JeH
Factor is Factor is
X x-17)

(T +X) ) (LT +X) ) 6 —X)
S| J01oe X"+ 2x - 288 S| J01oe X" - 6X S| J01oe
Factor is 5 Factor is > Factor is

(x+ 13) X —8x+ 16 (x + 19) X“+ 10x — 56 (x— 1)

(8T +X) 5 6T —X) 5 (8T +X) 5 9 -X)

S1 0106 X“+22x+ 112 S1 10108+ xc—20x S1 10108+ X“+6x-216 S1 10108+
Factor is Factor is Factor is Factor is
X+ 12) (X—4) (X—4) X+ 19)

(8 +X)
S1 10]3e4

T —X%)

2
S| Jl0joeH X — 16X

X% + 20X + 84

X2 — 6x— 187

WT +X%) (9T —X)
S| J010e4 S| J010e4
Factor is Factor is
(x—15) (x+12) http://mathsnut.net




Hex Puzzle 1

(T -X)
S| 10]13eH

Factor is
(X—3)

(T +X)
S| 10]13eH

Factor is
(X+9)

(§—X) ,
S1 10102 xc—18x+ 77
Factor is >

(X+2) X-—12x - 28

(TT =X) )
S1 10106+ X+ 38 x + 360
Factor is 5
(x— 18) X°—26Xx+ 144

(0Z +X)
S| J010eH

Factor is
(X+9)

(0T +X)
S| Jo)Je

Factor is
(X=1)

6 —X)

2

X-—24x+ 135 S| 0108
5 _ Factor is
X+ 2X—63 (x— 3)

9 +X)
S| l0joeH

Factor is

2_
X-—14x+ 33 (x— 18)

X2 —10x+ 21

X2 — 24 x + 108

€ —-x)
S| l0joeH

Factor is
(X+5)

€ +x)

2
S1 0198 X“+ 20X+ 96

X% + 6x— 280

8 +x) X% + 12 X
S| J01JeH
D
Q
Q
b\
_\—
Qé’
Factor is
(x—=15)

@T +X)
S| JojJeH

(GT +X%)
S| Jo)oe

Factor is
(x+14)

6T —X)
S| J0)Je4

Factor is
X+ 4)

http://mathsnut.net




Hex Puzzle 1 ( + X) 8T —X)
S| J0)JeH S| J0)JeH
Factor is Factor is

(x+19) X+ 14)

9 +Xx) (9T +X) (7 +X)
S| J0)JeH S1 101024 S1 101024
Factor is Factor is Factor is

X (x-19) (x+14)

G +X) (€ +X) ) (8T +X) 0T —X)
S| J0}oe S| J0joe X"+ 2X - 288 S| J0}oe S| J0)oe
Factor is > Factor is 5 Factor is > Factor is

(x—9) xc—20x+ 99 (x+ 13) X°+22x+ 117 (x— 8) X-—12x+ 32 (X — 16)

(9 +X)
S1 10]3e4

CARDY)
S| JojJeH X

c—x)

2
S| J010eH X“+14x+ 48

X2 — 20X+ 96

x2+10x—11

(¢ —X) 6T —X)
S| J010e4 S| J010e4
Factor is Factor is
(x-10) (X+4) http://mathsnut.net




Hex Puzzle 1 OT +X) €T —X%)
S| l0joe4 S1 J010eH
Factor is Factor is

(X—14) (X —4)

€ +x) 5 (9T +X) (8T —X)
S| J01oe X" —4x-320 S| J01oe S| J01oe
Factor is 5 Factor is Factor is

X+ 4) X' -8x-48 (x—12) (X— &)

(€T —X%) 6—x) C—-x) X

S1 1010eH S1 1010eH S1 1010eH S1 1010eH

Factor is Factor is 5 Factor is Factor is
(X +5) (x—3) X\ = 22x+57 (x - 10) (X + 14)

6 +X)
S1 10]3e4

(¢ +X)
S1 10]3e4

T +X)

2
S1 10198 Xc—8x—153

X2+ 4x—21 X2 — 4 X — 252

6T —X) 6T —X)
S| J010e4 S| J010e4
Factor is Factor is
(X+9) (x+1) http://mathsnut.net




Hex Puzzle 1 (G —X) (7 +Xx)
S| J0)JeH S| J0)JeH
Factor is Factor is
(x—14) (X+13)

X (LT —X) (TT +X)
S| J0)JeH S| J0)JeH S| J0)JeH
Factor is 5 Factor is > Factor is
(X + 20) x“+10x+9 (X + 14) X —2x—255 (X + 20)

(7 +X) ) (TT —X) ) (TT —X) ) € +X)
S1 10108+ X-—14x—- 32 S1 10108+ x-—16x-80 S1 10108+ x*—10x-11 S1 10108+
Factor is 5 _ Factor is 5 Factor is 5 Factor is
(x+7) X+ 4x-45 (X+2) X“+18x+ 32 (x+9) X°+22x+ 105 (x + 15)

(¢ +X%)
S1 10]3e4

(8 +X)
S1 10]3e4 A

(L —X)

2
S1 0108 X+ 12x—-133

X2 +2x+1

X2 — 22X+ 40

(L +X) (T +X)
S| J010e4 S| J010e4
Factor is Factor is
(X — 20) (X+3) http://mathsnut.net




Hex Puzzle 1 (T +X) 8T —X)
S| JoyoeH S| J010eH

Factor is 5 Factor is

(x+8) X+ 38 x + 360 (x+9)

7 =) ) 9 -X) ) L +X)
S1 10102 xXc—4x-165 S1 10102 X+ 14 x - 147 S1 J010e
Factor is 5 Factor is 5 Factor is

X+ 7) X + 38 x + 357 (x — 15) X+ 32X+ 255 (x+ 19)

(TT +X) ) (T2 +X) ) (LT +X) ) X

S1 0106 xc—8x-105 S1 0108 X+ 6x-55 S| 0198 X“+12x+11 S| 0108
Factor is 5 Factor is Factor is 5 Factor is
(x+ 17) X“+16x— 36 (x— 3) (x+ 18) X“—16x+ 48 (x— 3)

(LT +X)
S| JojJeH

(TT +X%)
slioped &

G —X)

2
S1 0198 X“—16x—- 36

X% + 24 x + 119

X2 +2x— 323

(T2 +X) (L +X)
S| J010e4 S| J010e4
Factor is Factor is
(X=2) X http://mathsnut.net




Hex Puzzle 1

/
o ¢
S

%
X,A
o

\
'

-
S

(L —X)
S| 10]13eH

Factor is

2
(x + 18) X°+32x+ 231

6 +X)
S| 10]13eH

Factor is
(X—=17)

(8 —X)
S| J0)Je4

Factor is
X+ 21)

(0T +X)

2
xc—18x-40 S| 10106+
Factor is

2
X+ 26X + 144 (X 20)

X2 + 22X+ 57

(9T +X%)
S| J010eH

x-17)

6 —X)
S| l0joeH

Factor is
(X+9)

X2 — 8x— 209

8 —X)

2
S| J010e Xc—16x+ 39

Factor is
(X + 18)

(02 —X)

Factor is
x-13)

X2 —6x—112

€ +X)
S| l0joeH

Factor is
(x—20)

(¢ +X)
S1 10]3e4

& —X)

2
x“+10x-171 S1 0198

x2 —20x+ 91

X2+ 4x—221

X2 — 324

€T -X%)
S| JojJeH

(6T +X)
S| J0)JeS

Factor is
(x+ 18)

(LT +X)
SI Jo)oe

Factor is
(X+9)

http://mathsnut.net



Hex Puzzle 1 (G —X) (IT —X%)
S| J010eH X S| J010eH
Ko
G &
X &9
% 2
.K\
&
{
. O .
Factor is Factor is
X+ 7) X+ 3)

(€ +X) 5 (8T —X) 5 (0T —X)
S| J01%e X+ 14x+ 24 S| 10108+ xc—38x+ 360 S| 10106+
Factor is > Factor is Factor is

(x—8) X~ 6x-160 X+7) )

X 6T +X) ) T —X) ) (0Z = %)
S1 10108+ S1 10108+ xX“+20x+ 19 S1 10108+ X°— 32X+ 252 S1 10108+
Factor is 5 Factor is 5 Factor is Factor is

(X+2) x“+30x+ 189 (X—5) X“+14x+24 (x+ 21) (X — 16)

X
S1 10]3e4

(8T —X%)

2
S1 0198 X —4x— 252

X2 + 14 X + 24 X2 +6X+9

6 —X) (9T —X)
S| J010e4 S| J010e4
Factor is Factor is
(x-11) (X+2) http://mathsnut.net




Hex Puzzle 1

¥ —X)
S| 10]13eH

Factor is
X+ 17)

(L —X)
S| 10]13eH

Factor is

2 —_—
X“+12x—-133 (x + 14)

T —X%)
S| J010eH

Factor is
(X=17)

X2 + 12 %+ 27

X% — 26 X + 120

(ST —X) )
S1 10102 X — 18X
Faa)‘(” 'S 2 + 20X + 64

(€T +X%)
S| J010eH

Factor is
(Xx-12)

(¢ +X%)
S| l0joeH

Factor is
(X=29)

X2 — 18X + 65

(8T —X)
S| Jo)Je

Factor is
(X—6)

6 +X)

2

xX“+20x+ 19 S1 10108+
> Factor is
X-—22x+40 (x+ 4)

X2 +12x+ 20

X% +18x + 81

S| Jojoe4

Factor is

(T +X)
S1 10]3e4

(T —X)
S1 10]3e4

X2 — 22X+ 72

6T +X)
S| JojJeH

X
S| Jo)oe

Factor is
(Xx—4)

(T —X)
S| J0)Je4

Factor is
(X=95)

Q‘g N

:;\
@;\\

http://mathsnut.net



Hex Puzzle 1

(0T +X)
S| 10]13eH

Factor is
(X-9)

(8 +X)
S| 10]13eH

Factor is
(X + 15)

€+X) ’
S| J01oe X" - 36
Factor is 5

(x+ 1) X-— 16X

(T-%)
S| J010eH

Factor is

2_
(X+ 5) X — 26X+ 165

Q8T — %)
S| J010eH

Factor is
(x-1)

9 -X)
S| l0joeH

Factor is
(x-11)

€ +X)
2

X —12x-13 S1 10108+
> _ Factor is
X —14x-15 (x— 18)

WT —x)
2
X“+18x+ 45 S1 10108+
5 Factor is
X“+20x+ 36 (x+ 14)

(T —X)
S| Jo)Je

Factor is
(x—18)

€ +X)

2
S1 0198 X+ 10X

x2—10x+9

€ +x)

2
S1 0198 o X“+ 16X+ 64

(TT +X%)
S| JojJeH

(T2 +X%)
S| Jo)oe

Factor is
(x—15)

Factor is
(X+ 2)

http://mathsnut.net




Hex Puzzle 1 OT +X) (7 —X)
S| J0)JeH S| J0)JeH
Factor is Factor is
X—=7) X+ 14)

(¥ +X) ) QT —X) ) 0T —X)
S| 0198 X+ 4x-221 S| 10106+ x“—16x-80 S| 10106+
Factor is Factor is 5 Factor is
(x + 15) (X+8) X" +8x-84 (x + 15)

(G +X) ) 0T +X) 0z +x) ) LT +X)
S1 10108+ X°—26x+ 120 S1 10108+ S1 10108+ X+ 28x+ 180 S1 10108+
Factor is > o5y Factor is 5 Factor is 5 Factor is
(x+ 1) xX-—2x-360 (x — 15) X“+20x+ 99 N X“+14x+ 13 (x+ 14)

(€T +X) , (9T +X) , 02 —X)
S1 0198 Xc—12x-13 S1 0198 o X+ 8X—65 S1 0198
2
O
AN
Qc&’
> _ Factor is
X“+20x-21 (x + 18)

(G -X) ) (T +X)
S| J0)0e X —14x+40 S| J0)oe
Factor is Factor is
(X+21) X http://mathsnut.net




Hex Puzzle 1 (€T — X) (0Z +X%)
S| l0joe4 S1 J010eH
Factor is Factor is

(X—2) (x+19)

7 =) ) (FT +X) ) (LT =X)
S| 10108+ Xc+ 12X S1 10102 xc—28x+ 160 S1 10102
Factor is Factor is 5 Factor is

(X + 16) (X - 19) X* = 24x+135 (X+9)

0z —x) ) @1 +%) ) 8 —X) ) TT +%)

S1 10108+ X°—28x+ 192 S1 10108+ X°—26x+ 165 S1 10108+ X“+26x+ 120 S1 10108+

Factor is 5 Factor is > Factor is > Factor is
(X—5) X+ 32X+ 252 (x — 15) X-—28x+ 187 (x + 16) xc—144 (X — 17)

@1 -%) ] (6T -X) ] ©+%)
S| J0joe X"+ 6x - 280 S| J0joe X" —16x S| J0joe
Factor is Factor is
2 2 .
Xc—12x+ 20 (X 12) X°+4x— 285 (X+2)

(9T —X) (G —X)
S| J010e4 S| J010e4
Factor is Factor is
(X+2) (X+14) http://mathsnut.net




Hex Puzzle 1 (G +X) (IT +X%)
S| J010eH S| J010eH
Factor is 5 Factor is

(- 5) X°+ 38X+ 361 (x — 15)

8 +X) 5 € —-x) (8T —X)
S| J01oe X"+ 12x+ 32 S| J01oe S| J01oe
Factor is 5 Factor is > Factor is

(X + 14) Xc—12x-108 (- 5) X°+2X— 168 (x+ 19)

(G—X) , 6 +X) , 6 +X) 9 +X)
S1 10108+ X“+16x - 105 S1 10108+ X“+14x+ 45 S1 10108+ S1 10108+
Factor is 5 Factor is Factor is 5 Factor is
(x + 18) Xc—16x-17 (x - 11) (X—2) X“—16x+ 55 (x+ 6)

T +X) 5 6 —X) 5 T —X)
S1 0198 A Xc—8x—240 S| 0198 - X“+12x—-189 S1 0198
»
fog
Q
.\\
9O
Q@
'
Q .
(&) Factor is
(X=2)

(L +X) ) (€T —X)
S| J010e X°+ 26 x+ 133 S1 0198
Factor is Factor is
(x+15) (X+7) http://mathsnut.net




Hex Puzzle 1

(TT +X)
S| 10]13eH

Factor is
(X—2)

(T +X)
S| 10]13eH

Factor is
(X—2)

T +X)
S| J0)Je4

Factor is
(X+ 2)

X% +22x+ 85

(TT —X%)
S| J0)JeS

Factor is
x+17)

X%+ 12x— 133

(T +X%)
S| J010eH

Factor is
(x-14)

T —X)
S| Jo)Je

Factor is
(X—4)

X2 — 20X + 64

X2 —6x— 280

(0T +X)
S| Jo)Je

Factor is
(X+5)

X2 — 32X + 247

(TT —X)
S| l0joeH

X+ 19)

X2 — 20X+ 96

X2 — 18X+ 77

9 +X)
S| l0joeH

Factor is
X+ 17)

(TT +X%)
S| JojJeH

X% — 14 X

& —X)

X2 +18x— 19

6T —%)
S| JojJeH

&T —X)
S| Jo)oe

Factor is
(x+ 19)

(7 +X)
S| J0)Je4

Factor is
(Xx—4)

http://mathsnut.net



Hex Puzzle 1 (9 —X) (9T —X)
S1 J010eH S1 J010eH
Factor is Factor is
(x-1) X

(TT =X) 5 (8 —X) (G +X)

S| J01oe X" —8X S| J01oe S| J01oe
Factor is Factor is > Factor is
(x+ 10) (X— 6) X'~ 12x+36 X

6T +X) ) 6T +X) ) L +X) ) (8T +X)
S1 10108+ X“+20x+ 19 S1 10108+ X“+24x+ 119 S1 10108+ X“+6x-216 S1 10108+
Factor is 5 Factor is Factor is 5 Factor is

(x+ 4) X*—10Xx— 56 (X—7) (x+9) X+ 16X + 63 (x+ 4)

(LT -X)
S| JojJeH

(T +X)
S1 10]3e4 A

0z +x)

2
S1 0198 X —32x+ 255

x2 —18x— 19

X2+ 4xX+4

& —X)
S| J010e4 S| J010e4
Factor is Factor is
(x—-14) (X=9) http://mathsnut.net




Hex Puzzle 1 QT +X) 6 +X)
S| 101%eH S| J0)JeH
Factor is 2 — 10 % — 200 Factor is
(X-1 X

(¥ +X) 5 T +X) ) @1 —X)
S| J01oe X" - 64 S| J01oe X" —14x-15 S| J01oe
Factor is 5 Factor is 5 Factor is

(x + 10) X“+30x+ 221 (x + 10) X+ 38X + 357 (x+13)

6T —X) , (€-X) , (8 +X) , (ST —X)
S1 10108+ X°—34x+ 289 S1 10108+ X-—8x-128 S1 10108+ xc—20x+ 19 S1 10108+
Factor is > o5y Factor is > Factor is > _ Factor is
(x + 15) X - 2x=323 (X + 17) X~ 100 (X + 21) X - 16x =57 (x + 10)

(02 +X) , (LT -X) , 9T -X)
S1 0198 o X-—24x+ 108 S1 0198 X —12x-160 S1 0198
”
o g
@)
\03
> (o} Factor is >
xc—=10x (x — 10) x-—8x+ 16

(8T %) ) (8 +X)
S1 0198 X°+ 26 x + 160 S| 0198
Factor is Factor is

(X—4) (x+15) http://mathsnut.net




Hex Puzzle 1

(8T +X)
S| 10]13eH

Factor is
X+ 14)

X2+ 10X+ 25

(ET +X)
S| 10]13eH

Factor is
X+ 4)

(T +X%)
S| J010eH

Factor is
(Xx-12)

X2 + 34 % + 280

(LT —X%)
S| J0)JeS

Factor is
(x—20)

X2 +18%x+ 72

T —X%)
S| J010eH

Factor is
X

8 +X)
S| l0joeH

Factor is
X+ 3)

X2 + 12X

(02 +X)

Factor is
X+ 7)

X2 —14x+ 13

X2 +14x— 15

9 +X)
S| l0joeH

Factor is
x-12)

X2 —16x— 80

X2 + 14X — 32

(T +X)
S| Jo)Je

Factor is
(X+5)

(G +X)
S1 10]3e4

X% + 18 X + 65

X2 + 4x— 140

€T -X%)
S| JojJeH

x2 —18x— 19

X% + 18 X + 56

0z —x)
S| JojJeH

(T +X)
S| J0)JeS

Factor is
(X+ 16)

(GT +X%)
SI Jo)oe

Factor is
X

http://mathsnut.net



Hex Puzzle 1

A

-
S

K

X
N
@.

(8T —X)
S| 10]13eH

Factor is
X+ 14)

(9T +X)
S| 10]13eH

Factor is
(x-19)

(¥ +X)
S| J010eH

Factor is
(X=9)

X2 +4x— 320

X
S| J010eH

Factor is
(x+ 19)

X2 +2x—15

(8 —X)
S| J0)JeS

Factor is
X+ 4)

9 +X)
S| l0joeH

Factor is
X+ 13)

X2 + 26 X + 165

(TT +X%)
S| l0joeH

X2 + 10X

(9T —X)
S| Jo)Je

(X+5)

(8T —X)
S| Jo)Je

Factor is
X+ 19)

9T -X%)
S| JojJeH

(TT +X%)
S| JojJeH

Factor is
(x—=15)

X2 — 34 x+ 280

T +X)
S| JojJeH

(8T +X)
S| J0)JeS

Factor is
(x—20)

(T +X)
S| J0)Je4

Factor is
(x+ 13)
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Hex Puzzle 1

(G +X)
S| 10]13eH

Factor is
(X + 18)

(ET +X)
S| 10]13eH

Factor is
(X—2)

0z - ] 8+%)
S| J01oe X" —22x+40 S| J01oe
Factor is Factor is
(Xx—16) (X+ 18)

x2 —8x—128

x2 —10x— 96

(8 +X)
S| J0)JeS

Factor is
(X + 20)

(L +X)
S| Jo)Je

Factor is
(X—8)

8 —X)
X% + 16 X + 63 8

Factor is

2_
(x—8) Xt —22x+ 112

(9T —X)
S| Jo)Je

Factor is
(x=1

X2 + 10X — 144

(LT —X)
S| l0joeH

Factor is
X+ 3)

6T -%) ] L +%)
S| J0joe o \' ~ 10x-171 S| J0joe
D
% 4@’77
N
o
2
%\’ Factor is
(x—=1)

X2 + 18X+ 77

X2 +4x+3

QT +X)
S| JojJeH

(0T +X)
S| J0)JeS

Factor is
(x+ 19)

6T —X)
S| J0)Je4

Factor is
X
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Hex Puzzle 1 ZT —X) (0Z +X%)
S| l0joe4 S1 J010eH
Factor is Factor is

(X — 6) (X—16)

(€ -X) L +X) ) 6 +X)
S| J01oe S| J01oe X"+ 16X+ 63 S| J01oe
Factor is > Factor is 5 Factor is

(X—T7) X“+18x+ 80 (X — 6) X-— 26X+ 133 (x+3)

(ST +X) ) 6T +X) ) (€ -x) (9 +X)

S| J0}oe X+ 12x - 45 S| J0joe X"+ 34X+ 285 S| J0}oe S| J0)oe
Factor is 5 _ Factor is > Factor is > Factor is
(X — 16) X“+6x-315 (X — 16) x-—20x+ 64 (x+ 21) X°—24x+ 128 (x + 10)

(TT +X%)
S| JojJeH e

9T -X%)
S| JojJeH

6T +X)
S| JojJeH

X2 — 8x— 209 X% — 32X + 256

(ET +X)
S| J0)Je4

T +X%)
S| Jo)oe

Factor is
(X=9)

Factor is

(Xx+1) http://mathsnut.net




Hex Puzzle 1 OT +X) T +X)
S| J0)JeH S| J0)JeH
Factor is Factor is

X+ 7) X+ 1)

(LT =X) 6T —X) ) (¥ +X)

S| J01oe S| J01oe X°—24x+119 S| J01oe

Factor is Factor is Factor is
(X+9) (X+ 2) (X+9)

(T -% QT +X) (8T —X) ) (T -%
S| J0}oe S| J0joe S| J0}oe X"+ 28x + 192 S| J0)oe
Factor is Factor is 5 Factor is Factor is

(x—1) (X +3) X+ 20%+99 X (X - 12)

(T +X) 5 & —X) (L +X)
S| J0joe X*—28x+180 S| J0joe S| J0joe
X2 — 38X + 361 Factoris X2~ 24% + 95
(x—-14)

Tz +X%) (8T —X)
S| J010e4 S| J010e4
Factor is Factor is
(x—19) (x—19) http://mathsnut.net
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T +X)
S| 10]13eH %
\ oD
(4/‘ / (g)
cy @ S
E2 4
F %
Qo A
& * =
<X \
Factor | B
actor 15 *2 + 10X — 200
X+1

(¢ +X)
S| 10]13eH

Factor is
(X + 20)

(LT +X)
S| J0)Je4

(X—6)

) 6 —X)

X+ 30x+ 221 S1 10102

w2 + 24X + 63 Factor Is
xX+1

(8 +X)
S| J0)JeS

Factor is
(x-10)

G —X)
S| Jo)Je

Factor is
x-=17)

(7 —X)
S| Jo)Je

Factor is
(x—20)

X2 — 20X + 64

X2 — 20X

(L +X)
S| Jo)Je

Factor is
X+ 3)

(€ +X)
S1 10]3e4

6 —X)
S| J01JeH
Factor is 5
(X — 20) X-—18x+ 17
T —X)
X° +8x+ 15 S1 101904
Factor is
2 —
xc—20x+ 19 (X — 20)

X% — 30X+ 216

X2 —4x—221

0z +x)
S| JojJeH

Factor is
(x+11)

(TT —X)
S| Jo)oe

Factor is
(x—15)

T —X)
S| J0)Je4

Factor is
(x—19)
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Hex Puzzle 1 (8 —X) (8 +X)
S| JoyoeH S| J010eH
Factor is 5 Factor is
(x - 14) X —24x+ 108 (x+ 20)

(9T —X) 5 (8T +X) 5 (L —%)

S| 10198 X —36x+ 320 S| 10178 X+ 30X+ 216 S| J01%e-

Factor is 5 Factor is > Factor is
(x+3) X-— 32X + 256 (X — 14) X—14x-51 (x— 18)

T +X) ) 8 +X) ) (TT —X) (TT —X)

S| J0}oe X“+10x S| J0joe X"+ 16x + 64 S| J0}oe S| J0)oe

Factor is 5 Factor is Factor is 5 Factor is
N x°—36x+ 320 (x—8) (X — 16) x“—10x+ 16 (X — 16)

T +X) ) X (0Z +X)
S| J0joe s \" 2x—120 S| J0joe S| J0joe
= o
e
S
O
%\ Factor is
(X —16)

(GT +X) )
S1 0198 X-—2x—-255
Factor is Factor is
(X=2) (X+1) http://mathsnut.net




Hex Puzzle 1 (9 —X) (T +X)
S| J0)JeH S| J0)JeH
Factor is Factor is

(X—8) (X + 18)

(8T +X) (¥ +X) ) (ST -X)

S| J01oe S| J01oe X" —14x-15 S| J01oe

Factor is 5 Factor is > Factor is
(- 3) X — 38 x+ 360 (X — 19) X°—12x-13 (X + 20)

6 —X) ) (GT —X) ) € +X) ) (8T —X)
S| 0108 x“—14x - 120 S| 0108 xX-—8x-209 S| 0108 x-—8x-105 S1 0106
Factor is 5 _ Factor is > Factor is 5 _ Factor is
(x+ 1) X“+6x-315 (x— 19) X°—22x+ 112 (X+2) X“+12x-28 (x— 19)

(TT +X) , (ST -X) , T +X)
S1 0198 s X+ 4x—-60 S1 0198 o X“+ 36 X + 323 S1 10198
= (oA
(g,b
o*
.\\
g
\ L
=
o Factor is
2
X+ 20X (x + 18)

(TT +X%) 9 +X)
S| J010e4 S| J010e4
Factor is Factor is
(x—15) (x—14) http://mathsnut.net
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6T —X)
S| 10]13eH

Factor is
X+ 14)

6 +X)
S| 10]13eH

Factor is
X+ 21)

(LT +X) )
S1 0196 X*+2X—255
FaCt)(()I‘IS 2 8x— 240

@T —X)

Factor is
X+ 14)

X2 —2x-120

T +X)
S| J0)JeS

Factor is
X+ 7)

T +X%)
S| Jojoe4

Factor is
(X+2)

0z +X)
2

X“+4x-96 S1 0106
5 _ Factor is
X“+8x—240 (x+ 17)

X2 + 26 X + 120

X2 — 14X — 32

(9T +X)

Factor is
x-12)

X2 + 18X+ 32

X2 + 28 X + 187

(¢ +X)
S| l0joeH

Factor is
X+ 12)

(T—X%)
S1 10]3e4

X2 — 16X+ 60

(L +X)
S1 10]3e4

X% + 26 X + 133

(G +X)
S1 10]3e4

0z —X%)
S| J0)JeS

Factor is
X+ 12)

Factor is
(x—-10)
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